Equal 9 step grey scaling betweeb* gan=14.4 andL* gow=125.1,Ype1=180.0, normalisation white

f

L*0anF14.4, L% 0au=69.7, L* 0aw=125.1, Yoan=1.8, Yoaum40.4, Yoanw=180.0,Coay=Yoaw Yoan=99.9
L*an=96.4,L*1a=103.8,L*ian=125.1,%ian=90.9, Yiau=110.2, Yian=180.0,Ciay=Yiaw: Yian=2.0

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]Y/3 - 16 with Y >= 0,882,Y,=100
g5=17, g%y= 11

g%= 99, g%= 99

L*cieLaB  intended output real output
no. i
1208 (D9 1251 10 1800 10 1251 1.0
; 6.6
8 1113 0.875 1321 0.731 1185 0.772
; 5.8
7 974 075 935 0514 1127 0.57
90—+ : 4.9
6 836 0625 633 0345 107.8 0.399
: 4.0
@5 697 05 404 0217 1038 0.259
60+ : 3.1
@+ 559 0375 238 0124 1007 0.152
1 2.2
@3 421 025 125 006 985 0.076
304+ 3 1.4
.2 282 0125 55  0.02197.1 0.027
! 0.8
@: 144 00 18 000964 0.0
0l AL*p=13.8 (i=1,2,...,8)
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{ normalisation: Yiaiw=Yoaw

g%5=91, g%5= 73
linearized output
L*0a L*Or YOa YOr ;L*a Al*a L*tr Yta (L*tr) 11891%a AlL*a

1.0 125.1
0.872 121.4
0.743 117.7
0.615 114.0
0.49 110.4
0.369 107.0
0.255 103.7
0.147 100.6
0.0 96.4
Yoait+Yoref

Yoaw™* Yoref
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